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T B e

O §1.200| EORK $100
FO= $2,400| O $100
Oy §1.200[ = O $1,200
wOR $500[{OF: $1,200
TOK §1.200[EOFe $1,000
BEO)E $200]frTO% $1,200
RO $200[37 0 2% $1,200
EEOFE 4 $2000£O0H $1,000
RO 5200 OB $1,000
BOARK $200{FEON $1,000
BB BT AR 52,0000 $1,000
BB A TR A 56,0000 $600
TOBE e §4.840
—0O%BF $500[2£2OF% $300
BROZH §1.200 RO $600
HOE $3,000[5 RO $600
—O%BF $1,000|122O#% $600
ZOLL $400[2EO $600
RO §1.500[560% $600
=OBL $1,500|g OFE: $600
PROZE $1,000[Z0O= $600
EOR §2.500[2I0% $600
EO8% §s0[iEO 2 $100
B O3k $1,200|B10O%F $1,000
RO $1,200| = O $500
=HORK $200[5& Ok $1,000
O 52.000[ = O% $500
ZIOTE $1,200|#ROE $5,000
BITs $50,000 R O%k $1,000
BO%HM S1200[3F Oz E $600
0L $200[FEOIE $600
#OH 55.000[ EOFH & $600
=05y $L000[fR O $1,000
BO® 52,0007 0% 5600
#Oih §5.000[BEO % $600
% Off §250[ZEORK $200
= 0% §1.000[BEO $100
FO=E $300|FE OB $600
O §1.200] £ O $600
BEOR §300[BRO $600
WO §500[BE O % $600
TO% §1,000]BE O $100
RO $1,000[BE O $1,000
HOSH §1.200[E O $100
BO%E $100[EOE $100
TOH $100[#O % $100
FO4£ $100[EFO= $100
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HOZE $3.,000|E O $100
BRO$ $100[fROL $100
BROE: $100ta O $100
BROF $100[ T O% $600
O $100[ T Ot $400
PRO®E: $100]7% O F e $300
RO $100|# O $100
TOH $100[m= O $100
BRORE $100[BROF* $100
RO $100[zR O $100
s O $100[FR O£ $100
BROZ $100[BR O $100
sTOE $100[ OB $100
sTO = $100[FROLE $100
sTOE $100[FROfZ $100
O $100[EFO% $100
TOF $100|FR O $100
+OZ8 $1.200[FFOF $100
TOZ $1,200)5F O e $100
O $1.200[FOE $100
FOEB $1,200[# O $200
Z O $1,200[FR O ¥ $100
BROR $1,200|E=O#F $500
PROZE $1.200[ZFO% $100
ZFOF $1,200150 $200
RO $600[#OHE $200
PROFE 5 $600[EEOZ $100
FOH $1.200[ZFOfE $100
SO $500[HEOH $100
T O $1,000|F O $300
HOZ $500[#kOZ $100
#HORE $500] O $100
FFORMH $600[HROF* $100
2Z0F $300) Bk OFE $100
BO $1.000{#k O« $100
BIOFH $800[ 2O $100
O] $2,320|5RO% $100
O $200|f O2%H $100
O $100[ & O1H $200
BIOF $1,000)2F OFffl $300
ROE $5.000)5=O% $100
RO $1.000PROE $100
O $1.200[FRO7T $5,000
BOF $1,200| = O] $500
ZF O $100[ O $20
BIOH $8,000 O $1,200
EORK $2,000|2O& $100
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100 ERE(E
Eati] F 2 TR EE
FORF+ $1,000{21Ok $200
75 5 1 AT B IR E] $500[5%=0O $1,100
SO $1,200[# O F $500
O8I $1,200[BLO%E $1,200
FOZREH $600[HEOF $100
TOX $1,200[ 2O $100,000
TOMH $1,200( =0T $100
+O7 $1,200|#ROmS $1,000
BOHE $1,200{450OkE $200
BOHE $1,000[iFO% $1,000
TOE $1,200(BOIE $100
FOE $1,000{FEROZE $200
FO&% $1.,200|EFOF+ $200
FO&%H $1,000[HEEOL $200
FOEAE $1,200[EOH $200
ZOR $1.,200[EO1% $200
O $1,200|ZF O3 5= $100
B OFAL $1.200| B O Y $100
FOEM $1,200| RO $200
220m $1,200|# 0O $200
$BOH $1,200[#& O 8 $200
1BOH $1.200|BO A $200
BOX $1,200[FOF8% $1,000
RO $1,200{#EO %% $200
PROTT $1.200/FROFF $200
RO $1.200|=OF $200
PROTESE $2,400[21O% $100
BHOBH $1,200[FEOZ $100
2Ok $1.200| RO $200
SEOE $1,200[#kOIE $10,000
TROE $1.200|#RO 2 $200
B OH $1,200[ 2O F $100
EOTE $1.200{FROEE $200
¥ OFy $1,200(BEO( $200
TOIE $1,000|BROE $100
TO% $1.000(BEO# $100
+O75 $1,000|1#rOE $200
PROFE $1,200[EFOS $100
PROBE $1.200|FFO B $1,000
BO% $1.200[t5O%E $10,000
BOXK $1,200{220(= $200
HOSE $1,200|F 0= $1,000
EROFRE $1,200|ftOF% $1,000
ROBH $800|Ex O ES AR $600
RO $1,200|ERO S $500
BHOAR $1,200| =O%F $100
EROZE $200|E= O $400
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RO $200[21OF5 $600
RO $200[ 2 O $250
HOE $600| 2O $1,000
FROAL $600|EE Ot $300
O $2,000|EEOE $2,000
A O B $10,000|#O ke et $500
w=OK $2,000)| £ O $50
ROEE $3.000|BR O $1,000
RO $1.000|FHOH $1,000
MHOZ $2,000( 75 2 /> SR A TR/ ] $500
RO PAL $1.200 |t 4O T (A0 & $12,994
FROH $1,000) % O% $600
FOR $5,000{ &2 OHE $600
JTOx $600| % OX2 $600
T Ot $400[ & OTE $600
RO T $300[ & O $600
A OF $1,000{ O $600
HOWEE $100| & Offgts: $600
=OE $100|FFORY $600
PO $200|E= O $600
RO $100[EO ¢ $600
O $500[EFO£E $600
+OH $100[#OZE $600
10O $200[ 52 Offg $600
SO $200[#F O $600
BOZ $100[#F O $600
FORE $100[=OfE $600
tRO%K $1,000|= 0O/ $600
HOHE $100[=OH $600
FOE $300[tOF5 $600
WOZ $100[EBOLL $600
TOX $100[ 2 O3L $600
POF $100[Z£EOF% $300
POHE $100|EO%x $1,000
HrOA $100|HE=COH $1,000
FO $100|EHO+ $200
RO $100| O $1,000
BRO&H $100[ERO%K $1.000
g O $200[FR O $1,000
ZF O $300[3EO= $100
RO $100[ EOAHD $500
RO $100[= O $500
2O $2,000| £OR% $1,000
BROH] $2,000| 52O $100
w=O% $6.000| POt $100
BIOZR $200[ 5= OFH $100
EOAED $500|%2O%& $100
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AROFH $2,000) 5= OH $100
=0 $500[FIOBE $100
BROLTY $600[HROH $100
SO $100[EOE $1,000
HOZ $1,200|HOf= $3,000
g O%k $10,000) TOZE $3,000
B O $300[= OFF $2,320
HO= $1,000 75 2 f> SR A TR/ ] $500
=0 $1.100[ZFO% F5 $10,000
HOE $500|FH O $600
BOZ $1,000]BR O $600
BOW $200] = O $600
HOFE $100[EXO%H $600
SO $2,000| = O5A $600
H AR $6.000) 8k O $600
BROIE $100[BROZE $600
ZO=E $1.000)BEO= $600
BROZR $200 | O3 $600
HOFET $200|#O== $600
FZOX $200|ARO%E $600
H O $200 | O $600
HOE $200[/ROFE $600
FEORH $1,200| A& O%Hii $600
FOR $1,200{AOHi $600
O $1,000)FE O $600
0 $1,200{FE Ot $600
ZOH $1,000{FEO AL $600
FOHmF $100[FEOHK $600
PROBE $100[FR OB $600
BROXEG $200[EH O3 $600
HO=E $1.200[HEO#F $2,000
2O $100|%20O $1,100
BROZ $100[#FHOE $500
SO $200[EOF $5,000
#OlE $200[2O%x $200
O $200| 2O $1,000
2O $200[FH OB $3,000
O $200[E= OFF $300
BEOH $2,400| & O $600
HOF $1,200[FOF $1,200
HOH $1.200[5ROF5 5= $1,600
FHOF $1,200|BHOE $2,000
O $1.200[EOH $1,700
BEOMH $1.200|EOZ $1,700
HEOER $3.000|EOFH $1,100
FOF $200[HEOE $1,700
g OFF $1,0001%it OJF& $1,700
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ZOR $1,200| EOF& $2,400
AEO5E $2.400| BR Ol $600
LOHg $2.400[ Ok $200
HEOFL $2.400|FE O $18,000
AEOfEE $2.400|5= O $500
BO% $1,200|E O $500
FHOK $1.200[EHOFH $3.000
MOER $1.200[E O $1,000
RO $500[EOFE $1,000
HOE $1,200|E OtF $1,000
HOZE $1,200|E OtF $1,000
E=OkE $1.200[E O $1,000
BROTE $1,200|fOFE $500
PROZ $1,200|#kO5% $500
HOE $1,200| O $500
A O $1.200|1 P O& $500
HOE $1.200[FEOF $600
O $1.200[=0O=E %= $1,200
CAOES $100[#mORE $1,000
BROE $200[#ORE $1,000
RO $200[#7ORE $1,000
PROZE $100[#mORE $1,000
BROE $100[#7ORE $1,000
FHOE $1.200[= OBk $1,200
HOB $1,200{ =0+ $600
FOAE $1.200{=OH $1,200
HOE $200|E= Ot $1,200
HOWS $100[5O% $1,200
FOK $1.200[=OF $1,200
FOEK $1.200|1#E O $1,200
FO¥ $1,200| B O $600
ZO $1,200[FF O $600
BOZE $10,000|FR O1E $600
BHOE $1,000) B O 5 $600
ZOF $1,000) B O $600
ZOH $1.000[= Ok $1,200
20O $1.000|18OF $1,200
ZOXE $1,000)5=O%8 $1,000
ZOHl $1.000[ZE OB $1,200
ZOf $500[ZFOFE $6,000
FZO%H $500|ZF O $1,200
Z O $1.000|FOF $600
ZOd $500[EOFE $1,000
ZOH%H $500[EOFE $1,000
+OFE $500|FH OFF $1,000
770 $1.200[E O $1,000
ROE $1.200[E O $1,000
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B OF(] $1,200[FR O] $1,000
RO $1.200|FOF $1,000
w2 O $1,200)5ROFK $1,000
MO $1,200(2£O%F $200
O $1,200)122O%F $200
FOHEE $1.200|1 PO $5.000
BO% $50,000)F= O $1,200
HO& $250| = ORH $1,000
§TOX $500|E O $600
BEOgH# $1,200|BEOBH $1,000
BROZ $200[ T O% $600
BO# $20,000] T O$# $400
FHOHE $20,000)7#% O T $300
RO $200|# O $100
RO $200[E=OE $100
BROME $200[#FOF= $200
BROZE $200[FROEF $100
H O $1,200|=O#F $500
fit O%F $500|FOH $100
sT O $5.000150 $200
POt $100[#BOHE $200
w3 $100[EEOZ $100
s O $100[F O $100
BOF $300[FLOH $100
AEOFEH $250|F O $300
FOZ $100[#ROZ $100
BRO®& $100[EO3ZL $100
e O $100[#ROF* $100
BROZ $1,200|#k O $100
BROLL $1.200{#k O« $100
PO $100| 2O $100
AHEOE $200[7RO=2 $100
FEORM $200|f O2H $100
AEOH $200[ & O1H $200
FOE $500|ZF OB $300
MO $1,200)5=O% $100
HE O $1.200PRO%E $100
=OEE $600[BIOF $2.400
BOH $3,000[FEO/ $100
OB $600|FE O $200
RO%Z e $1,200{ 21O $100
IO $300[FIOE $200
2OJ= $300|FEOH $100
21O $300|FEOH $200
ZIOE $300[FEOfZ $100
FEOM $300[FEOfZ $200
BIOHE $300] 5O /& et $500




MEEANSETRAIDFEHEENESE

1004E KBS
B b= s i izl S|
FOEE $800| PR O3 $1,000
RO $1,200{ZFO# $10,000
EOH $300| 27k R N ] $10,000
EOR $300[B O $1,000
=OEL $600[ EOE $1,000
FO4% $600| EO4% $1,000
=04 $500{EFOAR $100
JLO%E $1,200|EFO1& $100
Ol $1,200[EFO % $100
IZOITES $1,200[EFO1= $100
RO, $1,200[#FOF $100
HOFx $1,200 [ O3 $100
50OH $3,600| EONE $1,000
ROk $3,600{ O $1,000
SORE $3,600[ = OF5 $1,000
SOt $3,600; TOEE & $950
=0T $200PTOEE $1,100
MO $100|FHOFH $1,000
HZHO $300 Pt OSFEHE $2,868,167
HOE L $400|FOF $1,000
%O $400|EF O Mg $500
BEOZE R $1,200[ =01 $200
EBO# $1,200|1#50O % $500
EE O $1,200[FOJI1 $216,600
ROEE $1,200({f5ORE $1,500
TLOE $1,200|= OB $1,500
T LO¥ $1,200{5ROR% $5,000
FHOBR $400(5E O $300
@) $300|EEOR $2,000
ZO¥E $500| EO5F $1,000
ROH $300| 0% $1,000
171 O%fd $2,000|EFO % $300
JLOZEH $1,200| B 5 $100
1@ $1,200| & H-F%— Masakazu Fujii $3,000
RO $1,200({ZOlig $300
FOH $500| RO IE $100
BOZE $1,200|FROZE $200
FHOE $1,200|fF RO $200
HORE $400|EFOZFEF $200
PRORE $5,000|E[ O $200
BOTE $500[EF O $200
%0 $500|EFO% $200
ERORBE $10,000(BH O $200
ZIOME $300[FHOzE $1,500
BOH $500| 2O $2,400
BO¥E $500|FRO = $200
HOFF $2,000| RO %k $200
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FROH $1,000[FR Oz $200
2O&E $250|ZF Ot = $100
OB $250[FR Ot $100
RO $1,000|EOE $1,200
FOE $1.200|fOFE $200
FPOHRE $4,000[FR O 1 $1,200
FO1T $2,000) 52O $2,000
s OFT $200[FIOf% $100
FOE $200[BROZ $100
FEOE $200HO 5 $200
O $200[FEORI $200
=0% T $1,000); O $200
g OE $1.200[2£0 $300
g O%F $1.200[Z 0% $300
BO% $500(2=O% $300
BRO%D $1,000[HEOH $300
BIOFHe $1.20013 O $300
FOHE $10,000|1Z=OFL $300
FROHL $600[HEO#: $300
HOA $100,000{Z= Ok $300
EEOM $100[HEO#E $300
EOA $200[4£0 $300
RO $600[/H O $1,500
BOHIE $200[H= O] $200
EHOR $3,000| 20O & $100
BEOZ $1,000) 52 O%#, $800
BOH $1,000[FEOEE $200
BOHE $600[ O $200
JBO%K $600[fRO=E $100
EOE $600 | O $100
s O $1,200| %O $800
SOt $5.000|1 PO #E $200
BOHE $10,000|EE O $100
1 OBl $1.200 O $2,000
OB $1,000)E=OFF $200
ER Ok $1,200)FE O $200
HOE $1.000FEO% $200
SOk $5,000[FEOmH $200
BORE $1,000| = O] $500
FOtT $1.200[{HROH $100,000
BROA $1,200|=0L0 $400
BO% $300[ EO# $50
BO#H $300[21OF5 $500
BO#H $300[Z O $250
0O $300[#O%E $200
FHOXE $1,200)HO% $500
BOE $600[ETO= $1,000
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RO $600|ZFO1= $200
#HO_E4k $1,200| &k O BRI 5 $600
O $600[FEOE $100
BHOE $600| O $1,000
B Ok $1,200|BRO4F $600
BROTE $1.200[FRO%k $1,000
s Ok $600[FROF $1,000
TOEE $200[FEO H (#0) $10,000
O $1,200) B O % $100
HOTE $1,000{FOE $200
ROKT $1.200{EO4= $200
E OB $10,000) s O$#, $100
RO T $1,200|EO% $1,000
20O= $1.200[FR O $100
=20 $1,200|BEROF $100
FO, $1,200]#H O%L $600
SbfhEoErt $20,000[z= O $100
EOT $5.000) B OfE $100
=0 $600 | O $100
ORI $600| EO $100
HOHFES $600[FROJE $100
O $2,000|BE Ot $100
£ZOF $3.000|5FO%% $100
£047 $3,000) B O $100
EAOY/N $3.000[FFO $100
£0Ht $3.000)5F O e $100
£ZOH $3.000[FFOE $100
£OME $3.,000) BE O4NES $1,200
£Z0%# $3,000| EO# $200
EOZH $6,000{ EO% $200
BROZ $1,200|#H OF% $600
FOBK $3.000|#EOE $1,200
FOXE $3,000[FROF= $1,200
FOPE $2,000[#O $1,200
EORE $2,500| £ Ok $1,200
BROE $1,000]BE O $1,200
FRO*% $100| 52O $500
EOPE $200[2£OF5 $300
ZORd $200|E= Ot $2,320
B OR $200|2 O $100
HOE $1,000) POt $100
BIO= $1,200) 5% O $100
i O% $600|52O%& $100
O $600[5O1H $100
OB $1.200[FIOFE $100
gt O] $1,200) P O%E $100
OB $1,200]BECOBH $500
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100 RS
EE | B2l P
= Ot $600 |3k K& b er $25,000
PROTT $1,200|1#5O % $100
ZOMH $600[H O+ $200
OF $600[= O $1,000
Pt O3 $600|1 RO $1,000
ZIOF] $1,200| 21O %k $200
EROPR $1,200[EF O $200
FOus $1,200[EBCO G $200
HORE $1,200{ 5 O $200
HOS $1,200(HO= $200
O $1,200| B OF $300
FEORE $600| =0 $1,100
£OERM $1,200[3OE $500
TROZFE $1,200| B OZ $200
FOu $1,200[ O % $1,000
FOFX $1,200 (MO $200
FOtm $1,200[EOFEEL $1,000
ZIOaf 4 $1,200| O =% $200
PR OB $600 (RO $200
HORE $1,200|1 RO 3% $200
ZOFEME $600(FHO AL $600
PRO= $600|EF O $100
FOfm $1,200[EO1a $100
BO% $1,200|#FOZE $100
BOH $1,200|E5O1= $100
O $1,200|EFO;% $100
B OHT $1,200[f OB $100
BO# $1,200[ B2 O%E $500
L@ $1,200| 20O $100
BOE $1,200 RO $100
21O5 $1,200[ZZOFH $100
ZOX $1,200[ 2 O%& $100
0Ot $1,200| 2O $100
PO $1,200| 21O $100
= O $1,200{FROF $100
FRO40 $1,200{ 52 O % $1,000
O $1,200| 2 O4 $1,000
1ROFE $600[EO#K $1,000
BOE $1,200| = O%: $1,000
O $1,200[ O $1,000
BRO3E $200| 2 OF% $1,000
BR OB $200| 7 OH $600
EROFE4a $200|E O $600
BB O % $200[EFO $6,000
BFOARK $200[PROHH $1,000
MO EHR $1,000[ T O $600
Oz $400[ T O#% $400
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PROZ $400[7EO 3 $300
RO $400[H OFFE $100
FZOH $5,000[=O%E $100
HEORHE $500[H O $200
SR $1,200) B OFF $100
/B $1.200[E O $500
ZEIEZ $1.200(20% $100
SRR PR $1,200{ 50 $200
(R $1,200| BB O $200
S $1.200{EOZ $100
HEE $1.200[2Of $100
Eilien $1.200[HEOH $100
TR $1.200|2 O $300
BREAL $1,200{#kO%¢ $100
el $1.200| O $100
SR $1.200{#kOF $100
Lz $1,200{#kOE $100
35 $1,200{#kO40 $100
& 3 $1.200/2O%% $100
23R $1.200[FRO4H $100
SRR $1.200[ &2 O1H $200
o5 $1.200{Z O $300
nEE $1.200{5R O $100
S $1.200[3RO% $100
Al $1.200[FRO $600
AN/ 2 $1.200FEO%k $600
A5is3 6 $1,200{820= $600
ARG $1,200{5%2 O+ $500
AR $1.200[#5ORE $1,000
WestES $1.200[#5 O $1,200
JLEIE $1.200|1#O%E $600
SR $1,200|BEO%E $600
B[ HE $1.200{#5OFE $600
4 A A $1.200(t5O%% $600
e $1,200) 5 O%k $600
BO% $2,000(#%0O $6.,800
HOC $3.000[z=0% $100
TOZE $3.000| & dEfHZoeEt $20,000
#OFE $300|1 20O = $1,000
B O $1.000[#8O# $2.000
=0O%+ $100[FRO%k $1,000
EOg $400[B O $1.000
BO%Z $300[Er O EERIZ $600
= OIE%k $12,000|EROEES $500
Z0F $800[EO%z $1,000
ZIO%k $2.320[E O $400
O $100[Z O $250
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BOF $1,000|2 O $1,000
RO $1,200|EE O $2,000
MHOE $1,200[#O ke et $500
MHOHE $1.200|BR O $1,000
FOAED $500|121055 $500
RO $1,000)#H O% $600
ROk $300[FH O $600
MO $3,000) =5 Ot $600
=0 $500|ZFOF $600
BOZE $100[BROF $600
o/ @i $10,000|BR O $600
RO $1,000|{z=OFE $600
#O g L $500[ER OBk $600
TON $1.000|FOF $600
KROZE $1,000| B O = $600
FAOT $200[5OF5 $600
BOE $2,000) R O % $100
BOZ= $1,200)E 0O $200
BO=E $2,000) E= O¥E $200
EOE $20,000| B OF& $200
Rk $1.200[z=0O# $200
THEE $1,200) B O$#, $100
T E $1.200[FR O $100
Jit €7 5% $1,200[#HOE $100
RELE $1,200|BEOF $100
REIE $1,200)x O $100
= $1,200{FE O $100
BRA $10,000|F Ot $100
PR B $1,200| O $100
it $1,200) B O£ $100
RE $1.200|BROt% $100
BRAESE $1,200|5FO%% $100
ZO1 $200f O $100
AEOE $750[ET O $100
BROZE $100[EFO f, $100
PROIE $100[5FOFE $100
FAOT $2,200) & O%& $3.000
FAOT $2,200) 8 OFok $3.000
BROZR $200[#O $1,220
e OBk $5,000[ 75 $2 /> SR (A TR/ ] $500
HOFET $200|H\O&E $3,000
HOL $200[ O $2,000
L HOLS $200[FRO1E $100
ZO $200[BROZE $200
Z#0O $1.200|EOFF $200
TOE $100[EOL $200
TO4& $100[EFOH1 $200
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FOH $1.200|1Z Ot $200
FEORE $1,200|ZF O F= $100
sTOSEE $1,200|{BRO St $100
ZF O $100|BRO 05 $200
BROSE $100[B1Of $100
POt $100[BROZ $100
E=OX $100TOEE $1,050
OB $100E O $2,320
B ORE $3,000| 52O & $100
PROEE $200[FROEE $200
AEOFES $750[BR O $200
FOZ $100[fRO=E $100
BRO® $100[fR O $100
e O $100[# O $200
ZOREH $1,200|ZF O $100
RO $100[Z£EOF% $300
2O $100| =05+ $200
BROZ $100[5O= $100
MO $100[52O% $100
EOm $1.200[EFO % $200
BROE: $100[fR O %= $200
tROZE $600[5& O $200
HO& $600[t5O = $100
AOE $600[FEOH $1,500
BROH $1,200) T O $600
ZOligg $500[ T Ot $400
RO $1,200(7% O F 35 $300
BROZE $300|# O $100
i OF] $1,200)E=0O%E $100
s OBk $1,200[# O $200
+O=E $500[FROEF $100
BROH $1,200|=O#F $500
PROAL $600|FOH $100
FEOR $1,200150 $200
O $1,200{#8 Ot $200
BROF $100[EEOZ $100
O $100|F O $100
PROEE $100[F O $300
RO $100[#ROZ $100
T O $100[EO3ZL $100
BROkE $100[#ROF* $100
RO $100[#R O $100
s O $100[#k O $100
BRO $100[52 O $100
sTOFE $100|F O%H $100
sTO = $100[ & O1H $200
sTOZE $100[ZF O $300
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AROFH $2,000|5=O%H $100
OB $1007RO% $100
TOF $100[ =0T $18,000
MO $100[ =0T $100
PO $1,500[%=0 $1,100
CAOES $100[FHOE $500
BROE $200|BROHlI % $2,000
RO $200[=O %+ $2,000
BROE $100[B1O%x $200
BROE $100[F=OF $125
AO= $1,200[ O $125
FEOH $1.200{EO*% $125
FEO%m $1,200{58OE $125
B O $300EE Ot $300
O $750[HEO= $500
O $750|FO%d $300
HOE $200[FH O $3,000
HOWS $100 7T R ZFEAT AR AEIEE T4 $100,000
E O3 $50|H O $5.845
=0 $1.100[E OF $1,000
HOTE $500[t1 OF5 $10,000
ROEE $4.000(#5 ORE $1,000
BIOrsf $1.000)HO%k $5.000
FOR $1.000{ZOTT $1,000
RO $300[FHOFF $1,000
BORE $300pEOFHETE $50,000
BOH $1,000| &JLfhHr#E $20,000
PR O $1,000[7F5E (& i A2 $22,000
=RO%M $1.000) O $500
BROZE $1,000{FROTE $100
PEESFHAERAE $30,000|FO& $1,000
R LR (E ) $4,313|BROER $200
w=ORE $300[FR O $200
FOIE $1,200|ZOFT $200
BOMH $1,200|1ZFO=L $200
RO $300[EFOH1 $200
s2OFE $1.200|1Z Ot $200
BROBKE: $300[FROZ $200
SOk $1,000{FOE $100
i OF5 Bl $1,000{FOE $100
BrOB $1,200{FO4 $100
ZIOE $1,000{FO4 $100
PROBHER $2,000[5R O F $800
FR Ok $500[FROFE $200
fifi O T Fl $300F O %k $200
BROW $500]f O $200
BROBY $5007EO1H $1,200
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BROH4&l $1,000) &= O $30,000
E=OM $1.200[ZF O = $100
HO%R $1,000{BRO St $100
O $600[#E Ot $100
BROE $1,200)E 0O $100
RO $500[ == OKE $100
FHOJT $1,200[FRO & $200
=OE $500[HO=F=82 $500
w0 $300[HO%% $100
EROI $1,200)B OF& $100
w OB $300[=O# $100
wOE [ $500[FIOf% $100
E OB $1,000|BE O $100
RO T $300[#RO L $100
HOE $1.200 O 5 $200
BHO=E $1,200{FE ORI $200
AOE $500[HO%H $200
fTOFE $3,000|EF O $100
HO $500[FOfa $100
SO $2.400| B O = $100
BOEHE $1,000|EBOf= $100
HOFET $500[EF O $100
LO%E $1,000| =05+ $100
POt $1,000|21O%E $1,200
O $1,000{ 21O $1,200
HOZ $1.000{ZO%K $1,200
ROt $500[21OZ> $1,200
PROZ $500|2F O $1,200
BEO $500|F O $1,200
AIOFEE $500[ =0 %+ $100
A OF( $500 1] O5 $100
HO $300[= O $400
BEOXKL $300EOHFT $1,200
EOHBk $300| EOAEHD $500
FO%E $300[ EO& $100
AOZ%= $1,200)| EO# $100
=0O%+ $200[ O $100
O3 $300[ O $100
R L e E (HdE) $10,000[FEO7H] $200
RO $2,000|1#kO%E $100
FOE $2,000|= O $500
ZFOLE $100|=OE $100
FHOH $1,200) 5= Ol $200
FHOH $10,000|1#O% $500
HOLC $1,200{FROEE $200
FEOLE $1.200[FROA= $200
FOLE $10,000[FROZE $100
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fLO $1,200{FRO#% $100
HOB $1,200|1 kO3 $200
HOH $1,200|ZF O $100
ZIOH $1,200[#O ke et $500
HOE $1.200[EO# $50
20OHE $1.200| £OF $1,000
BIORE $1,200| RO % $1,000
£0% $1,200{ZF O $500
HOZE $1.200|BR O $1,000
BIO% $1,500{H O $200
Oz $1.200[=0O7FF $200
#®O% $1,200)FE O $200
FR O $1.200[FEOf% $200
#RORE $1,200)FE Onfft $200
£Z085 $1.200[5 0O $100
HEOLUI $1,200) POt $100
BROH $1,200) 5% O $100
=M $1.200{52O%& $100
EOTE $1.200{5O1H $100
A OB $1,200|21OB% $100
PO $1,200) P O%E $100
A O] $1,200| £ Ot& $80,000
A O $1.200 [ OBE(#0) $1,000
A O>L $1.200|210 & $2,800
A Off $1,200(% H 54 $1,370
HOE% $1.200PTOETE £ $1,000
£20) $1,200|12FO1= $200
O $1.200[FrOF& $1,000
FOR $1,200|&F O BRI 5 $600
O $1,200)1220F5 $300
E O $1,200[E O #S $500
OB $1,200|FO%z $1,000
T O $1,200{1OF5 $700
TO= $1,200|1#E O3 $5,000
=OH $1.200[HEO $100
O $1.200[FRO%k $1,000
F O] $1.200[EEOF $2,000
TOE $1,200) 5% O%f $2,000
EROL $1,200| FOFH $5,000
O $1,200|5E O $1,000
i OF7 $1.200|FRO & $3,000
i OFE $1.200[RO% $100
BHOR $1,200| K2 OF $100
BEHO= $1,200)22 Ok $100
BEHOR $1.200(t5 O $100
BO&E $1,200{5O $2,000
H O $1,200]FHORX $2,320
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ZOF $1,200[ 2O $1,100
Ex O $1,200[HOE $500
TROE $1,200[BFOE: $500
@) $1,500|ZIO%k $200
SOR $1,200{ FO#I#HD) $500
HHOFE $1,200| 5O $500
BROS $1,200(f 0% $20,000
BROBH $1,200|F 2O $10,000
BOFE $1,200|FEO%E $100
BROZE $1,200|FEO#E $100
FEOT] $1,200[FEO 7 $1,200
BEOR $1,200{5EO%% $2,000
Z0OR $1,800|# O E $1,200
ZOHEE $1,800|FE O£ $10,000
E#HOFN $1,200|#RO% $3,000
#OHH $1,200[ OF $1,000
21 Ol $1,200|F O $10,000
O $1,2005FEOF $3,000
HO $1,200[fROE $100
BEOX $1,200|FEO$8 $100
HOL $1,200|FEO$8 $100
SFOZ $1,200|= 0= $20,000
O $1,200| & O3 $2,000
KOH $1,200[ Ok $1,200
FBOKE $1,200|FE O $20,000
O $1,200{FO5| $20,000
=OE $1,200/FEO5= $10,000
O $1,200[fROE $100
SOfIE $1,200[fROE $100
SO $1,200|450 B $1,000
= OREMH $1,200[ HO£ $100
= O $1,200|&ROFk $1,200
=HOH $1,200[FEOE $1,200
PROZE $1,200[FEO £ $1,200
=HOE $1,200{#2OH $6,000
20Ot $1,200|Z10O%4 $2,000
& OHi $1,200/FO& $10,000
=OHE $1,200|F O $10,000
RO $1,200(H O $2,000
HOA $1,200[FEOF* $100
HORL $1,200[FEOF $100
ERAOES $2,400[2OFR $100
HROEL $1,200[2O%R $100
HOZ $1,200[FEO $100
=OH $1,200[FEO $100
EOFHE $1,200|FEO R $100
O $2,000|FEO R $100
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12 Ol $1,200| O $100
i OPR $1,200| O $100
SO $1,200) B O£ $100
SOt $1,200) B O£ $100
A OF $1,200|BR Ot $100
BO53 $1,500| ROt $100
B0 $1,500|5FO%% $100
=50 $1,500|5FO%% $100
BR O $1,200(PR O $100
HOE $1,200(PR O $100
BROF $1.200[FFOFE $100
RO $1.200[FFOFE $100
BRO& $1,200)5F O e $100
O $1.200[FFO = $100
BROME $1.200[FOE $100
PROZ $1.200[FOE $100
FEOLE $1,200(PE O $1,200
RO $1,200|H O $1,200
#FOX $1,200|H O $1,200
BROIE)G $1.200{ HOZ $1,200
HORZ $1.200{tH O $100
FEOH $1,200|ZOZ $1,000
FOE $1.200[EEO1# $10,000
H O $1.200 ¥ OE $6,000
H O $1.200{ZFOE $500
MO $1.200{EOk $300
FEO $1,200|FO# $500
A O $1.200{ZFO%F $300
RO $1,200{¥ OEl $10,000
BHOJE $1.200[ZROF} $100,000
§TOF $1,200TOZ= $200
BO#H $1,200[{TO%& $500
BOK $1,200[{TO#F $500
BOEL $1.200{FOE $500
ROX $1,500|FEOHEFT $500
I O= $1.500[EE O $10,000
RO $1.200) O $10,000
w075 $1,200)EE O $20,000
210 $1,200|E= O $1,000
210 $1,200{ F O $2,000
ZFO5h $1,200|#O%= $3,000
O $1,200) ¥ O $500
wEOHE $1,200| B OB $1,000
#OH $1.200)| B E s $100,000
=0l $1,200{ T)¢5F $20,000
INNS= SR fG i $6,000(EHF & b & $10,000
TOEE $1,350[/F+=5F $6,000
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SO $100) & =F $100,000
O $1,000 e 7 S SE A PR ] $6,000
SO $100| EELLSF $300,000
FIOEK $200[1EF=F $100,000
gO%& $250|FEO= $10,000
RO $S00|EEOH $6,000
#*OFE $1,200)BECOBH $1,500
FOT $1,200|EL O $100
#EOSL $1,200|1ZOtG $100
O $1.200|#FO = $100
#O Jg L $500[EF O $100
E O3 $50[EB O $100
RO $1,000[f1 O $100
HOZF $1,200) T O $600
B Olige $1,200) T O%# $400
wO% $1,200)7#% O Tt $300
PO $1,200[#H OFF4F $100
HORE $1,200[=O%E $100
RO $100[#FOF= $200
ROFE $1,200[FR O $100
BO= $1,200|E=O#F $500
EOH $1.200[ZFO% $100
FOK $1,200150 $200
SO $3,000|FL Ol $200
MHOEAE $240[EEO¥ $100
BROTE $300|FOfE $100
ROE $1,200|F O $300
=0% T $11[ROZ $100
FOE $1.200{EO>L $100
PO $400[#ROF* $100
OB $400[ RO $100
PO $400[#k O« $100
POLT $240[ 52O $100
FOH $240|f O2H $100
MOE $240[ 8 O1H $200
HO1E $240[ZF O $300
Z0E $300[7R O $100
MHO%E $300[7 RO $100
£ 0% $300[= O $400
£OME $300[7R OB $5.000
WO $300[EEOK $2,000
HOZK $300] 5O /& et $500
RO $600| 77 $ b SER AT A IR /A H] $500
BEOL $250[FO= $1,000
BEOZEE $250| HOA= $3,000
RO%E $300pTOZE $3,000
BROME $300[EBOEHES $500
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MO%k $300|EO%x $1,000
EEOE $2,000|210F5 $400
O $2,000[ExO%k $1,000
OB $2,000{2202& $1,000
B OZEME $2,000| 2O = $100
@ $2,000| RO $100
BEOXK $2,000{ = OFK $100
FROFESR $1,200{ 2024 $100
FO&E $1,200|%=O71H $100
HO% $500[IOBE $100
PR O $100[FROEL $100
FOE $100| RO EE $50,000
FO4& $100;HEO%: $500
FOKE $1,200|= OBl $10,300
MO $100| EOEE $2,000
=OX $100PTOEE $300
=ORE $100[HE O $1,200
HOFEE $500[HEO 4 $2,500
HEOZE $100|BEEOIE $100
BORE $100| ROk $200
=08 $100|#EFOFET $200
RO, $100|E3O=L $200
RO $100|#FO $200
PR O $100[EFO= $200
RO $100[FE Ok $1,500
FOH $100[j OF5 % $2.500
BHOME $100|ZOHHZE $100
BEO M $100[fRO S $100
FEOH $100|E O $1,000
BHORE $100|E O $1,000
RO $100|FO#f $100
FFOiE $100[=OX $100
BEOE $100| & OB $100
EFOHE $100|2IO%&F $300
O, $100|fHO F& $200
sFOE $100HEO%S $500
FOf $100|FEO% $100
FTO& $100[fHOF $100
HOE $100|=O# $100
FOEF $1,000|B10% $100
BO# $10,000[BEOZ# $100
HORBZR $600| PO $100
20F $300|#1OF5 $3,300
EOEE $500| = O $3,400
E@)R $1,000{ &= OB $3,300
FEOE $2,000{#5ORE $1,000
—O%BF $100| = Oer $600
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HOE $600|ZIOZ Bk $300
=OL $400(Z21O /= $300
0% $500|ZIO % $300
O $100|Z1O& $300
20O% $1,000[EEO#t $100
PO $600|EEOHA $200
R0O% $1,000|2103# $100
TROFK $1,000|2103# $200
O fE $100|5=OfKH $10,000
HO% $100[FEOH $100
HOI $500[EEO $200
EOR $2,500[FEOE $100
HOZE $500| O $200
SOZE $1,000[=OJEl $600
SO $1,000{ EO4% $600
SO $1,000(25O $1,200
AOE $1,000[ O $1,000
o) $1,000[ O $1,000
=OME $200|1 RO 3L $100
HOZ $300| EO#- $2,000
OB $200|3O % $300
HOFE $1,000{ 2O X $100
TROZFE $300[#5 O $1,200
HBORE $300/O1L $5,000
FOTE $2,320[FHOEE $200
#£OHH $20,000[BE O $200
FOHED $500[BEO=E $100
=OME $500| PR O#= $100
BOE $100{ = OF) $1,200
FOu $1,000(21O#H $300
PROIE $100[#ROE $200
PR OFE $200|EFO1% $100
HOET $200|Z£O#= $400
B0 $200|220 % $400
O $200|ZBOTEE $10,000
O $200| 21O $300
ZOHFHE $100|28OZL $300
PR OBt $1001 5+ (G i 22 $15,555
EOH) $1,200 |3 B fFB $50,000
BOEE $200201 $200
#HOR $1,200{ O & $1,200
21O $100[FROZK $1,200
BO% $100| =O% T $100
FROH $6,000[ EO#1GH) $500
O $1,000{& O $500
O $1,000(EFO%H $300
RO $1,200[FR O3 $1,000
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TOXR $600|FH O $10,000
TOR $600| B E FhECE T $10,000
T O## $400 | Hrigiis =7 $5.000
T O## $400[# O $400
MO $1,200| &8 O BRI 5 $600
RO T $300[ kO $400
RO T $300[5=O% $400
A OF $1,000)22OF% $400
A OFE $1,000|122 OB $400
O $1.200({FOZE $400
202 $1.200(EF O $400
ZO% $1,200|120= $400
i O $100|ECOH $1,000
HOWEIE $100[TOEE $400
=OE $100[FEFOHR $400
=OE $100| EOFH $400
MO $200[5FO $400
MO $200[BRO 2L $400
HOE $1.200[#EO $100
RO $100|5=OF $3,100
RO $100[£5OFE $200
O $500| EOE $100
O $500| EO4 $100
+OH $100|52 Ot $1,200
FOH $100|%= O+ $500
10O $200|%= O+ $500
70 $200| = O $1,000
O $200| FOFEE $1,200
SO $200/2£0 $1,200
Z0O&E $1.200[FR O£ $1,200
EZOX $100[EF O $100
BOZ $100[FO1a $100
BOZ $100|HFOZE $100
FORE $100[E O $100
FORE $100[E O $100
BROM $1,000[f1 O $100
BOH $1.200[EFO % $400
RO $1,000|FRO = $400
RO $1.000[5R OB $400
BROE $200[FEOH $500
BRO= $200[=O1= $1,200
PROZE $100[EO% $1,200
BRO%E $100[EO& $100
ZO® $1,200[ O $100
HOHE $100[52 Ot $400
HOHE $100[#OH $1,000
FOBE $300[2Ot4 $400
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FOBE $300|122 O $900
HOE $200|122OF $900
MHOZE $1,200{H O $200
Z O $100[Z£O% $1,000
POZ $100|FHOH $1,250
POZ $1001{hiO~ $1,250
FOX $100|47O% $1,250
TOX $100[HOE $1,250
POF $100[{h OFF $1,250
POTF $100[FORX $1,250
PO $100[HO* $100,000
POHE $100|FHOH $1,250
HOA $100|FHOH $1,250
HOA $100[3EO#F $2,000
FO $100[BO%x $200
FO $100PTOEE $800
RO $100|E=OHE $2,320
RO $100EE Ot $300
BRO&H $100)%=0 $1,100
BRO&H $100|ROFEZE $5.000
g O $200[5OF= $300
g O $200pPEOSFETE $50,000
Z O $300[/FEO= $300
Z O $300|4 2 S BIEA L2 $5,000
RO $100[HO% $6,000
RO $100[HOF $6,000
HROLE $100[EE Ok $500
HROLE $100[FF O $6,000
FROE $1,000) Ok $1,200
BROZE $1,200) &£ O $6,000
ZOFME $1.200(#ROBK $6,000
ZOW; $1,200| O $1,000
BOF $100| FOE $1,000
O $1.200| £O% $1,000
SEQO#HRAL $1,200| =05+ $100
ZOTR $100[ =0+ $1,000
#Ola $100[ kO $48,000
O $100[Ek O#F $6,000
ZOLE $100| E Ot $1,000
EOMF $100[ FO% $1,000
FOH $100[F£OF $1,000
BIOFEH $100[&r OFH $6,000
RO $100| FE A 2 & $50,000
21O $100|ZFO= $1,000
ZIOE $100[=0O%+ $200
FEOM $100[= O] $400
BIOHE $100[21OF5 $500
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EOHF $100|=O% $2,000
EOR $100[EZEOR $2,000
PR OE $1,200[(EZOR $2,000
FEOFk $600| EO$ $50
RKOEEX $600| EOsF $1,000
FOE $100|1£0O%E $1,000
ZIO#H $100|FE O3 $1,000
PROSE $1,200|%20OE $100
FOE $600| RO $100
21O $100| 2O $100
FOE $500| 2 OZ& $100
ZIOZk $200| O $100
%0 $1,100{ZIO% $100
HOE $500| & H%— Masakazu Fujii $3,000
ZO $500[E£ O EREIZR $600
P Oz $500|EF O MR $500
BHOZ $500|EO%z $1,000
SO $200|E Ot $250
BEOIE $100|ERO%k $1,000
PR OFE $200[5E O JE Rt $500
O $200[&= Ok $300
HOET $200(5E O $6,000
HOX $200[EFO1= $3,000
O $200|E=OR $500
O~ $200{z=O% $2,000
RO $200|2OF % $2,000
SO $600 | #Fe {4 (G B $1,800
RO $200 | #Fe {14 G2 ED $10,884
[EH@) $200|FRO%E $100
BROZE $200[ EOE $100
ROF $500| EO4 $100
ZOHFE $100|fHOE $100
PR OBt $100|FEO$# $100
BOEE $200| RO $100
RO $1,000| HOF $100
21O $100|FEOF $100
PR OZ $100|5x O $100
HOE $200(PE O $100
EORM $200| RO I $100
O $200| EOH $100
#=OH $200|FROJRE $100
ROE $100|FEO% $100
RO# $400|FF Ok $100
BROEE $200[BRCOzE $100
RO $200[FFO=E $100
PROZE $100|FFOja, $100
RO $100[5FOF $100
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FOM $400[ EO& $100
HOE $200[ O $100
HOWS $100[HH Ot $100
w=OH $600 &k O $600
w=OFF $200[FEO $600
E@) $200|EHOBH $600
2O $200| £O= $600
FEOmHE $200[FE O 1% $600
O $1,200) B OBE $400
O $50[ RO $800
RO $50[F O $800
HOMFES $500[#FO4F $400
#O g L $500[BR OFE $400
PRO=E $1,000|FRO%& $800
FOEE $1,000[ & O $600
FOE $1,000|ZBOAE $1,200
=0% T $100[5OE $400
Ol $400[ A OHk $400
gO& $250[=O T $600
205 $200[=O5A $600
OB $5.000) &= O $600
B Ofiig $300[EO# $600
EOK $2,000|E=0Ox $600
E O3 $50[FOZ& $400
HOE $1,000|F O $400
75 AR ZER i A IRV E] $500[BEOH $1,500
MO¥E $1,200) T O $600
210 $1,200) T O$#, $400
O&E $1.200[HEO $100
HOTR $1,200)7#% O Tt $300
HO $1,200[FH OFF4F $100
BOR $1,200)E=O%E $100
BOIE $1,200)z O3 $5,000
BO% $1.200(#R O $200
BOBE $1.200[= O $500
§TO T $1,200|F O $100
FOHR $1.200[750 $200
2O $1,200| 8 Ol $200
BHOZE $1,200|F O $100
A Ot $1,200|#k O $100
=OA6 $1,200| £O $100
EON $1,200)#kOF $100
A OF5 I $1,200|#k O $100
FOE $1,200)#kO40 $100
= O $1,200| %O $100
=0 $1,200) B O%F $100
O $1,2001% OtH $200
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HOF $1,200)ZF Offfl $300
RO $1,200)5=O% $100
wOHk $1.200PRO%E $100
RO $1,200)F2 OFK $200
BROE $1,200[#5O $200
RO $1,200| O $1,000
sTORE $1.200|22OF $300
BOE $1.800[ZF Ok $300
ROF $1,800) 52 Of $2,000
sTO%E $1,200{= O $100
O $500[FRO%E $100
=OHETT $1.200{FEOTE $100
tROE. $1.200[FR Ok $200
i Ot $1,200[FROF $200
FOEKE $1.200|EOFF $200
ROBE $1,200|ZFO=L $200
2OH $1.200[E O $200
e Oz $1.200|1Z Ot $200
LOHEE $1,100)B O $200
HOE $1,200|FO%% $1,500
s OfE $1,200)B O $200
s O $1,200) B O3 $200
BROZE $100fH O $200
TOE $100|2F O % $100
TO4& $100[fR Ot $100
MO $3,000[FEOF& $200
BRO$ $100[fRO=E $100
BROE: $100[FRO#h $100
BROF $100[FIOf% $100
O $100[BROZ $100
PROEE $100[O & $200
BROBE $100[FEORI $200
TOH $100[HO%H $200
BROkE $100[fROL $100
RO $100|HEOFE $100
T Oi% $100[/EHO $1,500
BROZ $100[FROF* $100
sTOFE $100[zR O $100
sTO = $100[FR O£ $100
sTO%E $100[BR O $100
OB $100[ OB $100
TOF $100[FROJE $100
BHOHE $1,200|BROt% $100
SOt $1,200|5FO%% $100
RO $1,000) B O $100
SO $400[ETO*E $100
FOM $400[EF O f $100
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BRO B $2,000|5TO%E $100
HO{ $3,000[HOFZE $1.500
LOZE $3,000) H Ot $100
#FORMH $600 | O $2.400
£0% $500[F= O] $200
BEO% $1,000|%20O & $100
O $2,000[FEOEE $200
BIOF $500[PRO= $200
HO=E $100[fRO=E $100
BOF $1.000{FR O $100
FOH $2,320(# O $200
FO%H $1,000|Z OB $100
RO $1,000)E=OFF $200
SO $500[FEOE $200
BO%E $100[FEOfZ $200
RO $1.000[FE O $200
AOT $200(br O $1.000
F O $100[BEOH $1,500
BO% $200 (38 O#F $2,000
EEOM $200[ T O% $600
FROH $1,000) T O%# $400
JTOx $600| 21Ok $200
T O## $400 7% O <3¢ $300
RO T $300|# O $100
HOWEE $100[m=O%E $100
=OE $100[#FOF= $200
MO $200[FH OB $3.000
PROES $100|HE=COH $1,000
O $500|E=O%F $500
FOH $100|FOH $100
10O $200|770 $200
SO $200[#BOHE $200
BOZ $100|F Ok $100
FORE $100|+OF A4 $1,000
HOHE $100[= OF $2,320
FOE $300[#EO= $135,000
WOZ $100[#ROZ $100
TOX $100| O $100
POTF $100[#ROF* $100
WEOFE $100[#R O $100
HOA $100[#k O« $100
FO $100[52 O $100
RO $100F O%H $100
BRO&H $100)%=0 $1,100
g O $200[ & O1H $200
Z O $300[ZF O $300
RO $100[5ROH $100
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RO $100[/RO% $100
MHO& $600[EEOJE $500
TO=E $500[£5OFE $200
BIOZR $200[HE O $5,000
PROAL $600[EBOIR $100
TORE $200[FOfa $100
HOH $1,000|EFO%E $100
%0 $1,100| O $100
HOE $500|E O $100
s O $200 1] O3 $100
FO $300|AO=E $1,200
ZOF $100) 4 O&¥ $1,200
HOMR $100| % O $1,200
#Ola $100[AROE $1,200
O $100[AROF $1,200
2O $100[ ROt $3,000
O $100[EROFE $100
FOF $100[EROF $1,000
BIOFEH $100[EROE $100
RO $100|$#O & et $500
B0k $100[BR O $1,000
ZIOE $100[BBOLE $1,000
FEOM $100[EEOK $2,000
BIOHE $100[FO= $1,000
FO $100[EB O $500
FEOF $100| =05+ $200
BHOEE $2,000) = O $400
FHOE $100[FRO%k $1,000
BIO# $100|EE Ot $300
BIOHE $100|EHO+ $200
BO# $500[7ROF $1,000
A O $625,000|E2OF $5,000
TOEE $650| £ OF $1,000
HO& $500|PEOF $2,400
HEOFE $1.000[E O $1,000
PROIE $100|FHOFF $1,000
BROZR $200[EOFE $1,000
BROZ $200[F1O% $2,000
HOFET $200[FEO T $600
HOL $200|122OF $300
LHOLS $200[)ZO%z $1,000
HOE $200[#ORE $1,000
RO $200(#ORE $1,000
ROSHE $800[#ORE $1,000
RO $200 | B Ol $600
BROME $200|fs O $600
BROZR $200[FRO1E $600
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ZF O % $100[f O = $600
PROSE $100[FROLE $600
POt $100[t5O%% $300
w3 $100[t5OFH $300
s O $100[#OF $300
BROXEG $200[2£ Ok $300
AEOFES $500[FOE $600
HEOZ $100|2 O $1,000
PROZ $100| 5O $1,000
s O $100[EOFE $1,000
210t $100|FHOFF $1,000
BROZ $100[EOFE $1,000
MO $100[ZF Ot $1,200
AHOE $200[5ROF $2.400
FEORM $200[5 O $1,200
AEOH $200|EO $2.400
O $200(fR O $2.400
O $100|E O $600
EZOX $100| &L MhHodEt $20,000
BROEE $200[FE O $20,000
RO $200|&£O EEREIZ $600
PROZE $100| & OI&l $1,200
BRO#E $100[#O 2L $1,200
MO $200[#O%E $100
HOWS $100[ 2 O% $600
OB $1,000( % Ot $600
w=OJT $200|% O¥2 $600
E@) $200| % OfH $600
2O $200|% O $600
FEOmHE $200[E O $600
=0% T $100| & Offgts: $600
B Ofiig $300|FHO%E $600
Z0E $2,000 (PR Ol $600
BRO B $1,200) = O $600
O $600[EXO%H $600
BRO & $600| = O54 $600
Z Ol $300|FF O $600
S LORE $1,200|= O $600
EEORBED $1,200|E8 O $600
HOR $1,200[&F O $600
=OT $500[BROZE $600
HOFEE $1.200|BRO= $600
BROZE $1,200|BR O3 $600
MHOEAE $240[3OF= $600
O $1.200[/ROF $600
MO $1,200) B O $600
BROTE $200[/ROFE $600
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20OFt $500[Z&O%Hi $600
RO $600[{& O $600
PO $600(5E Ok $1,200
HHOH $600[EFOLE $600
FO=E $600[FROZ& $600
HOFTHE $600[ = O $600
PROME $400[#R O $600
HOE $400[#R O $600
PROH $400(&= Oft: $600
HOLT $240[E O/ $600
HOH $240(5 OHH $600
HOE $240(5O 75 $600
HOtE $240|FEOFHE $600
#HOLE $200( P OHRE $600
FOZK $200| RO EAE $600
EOH $200[FEOHk $600
EOMR $200(FR O R $600
EOZEE $200[HFO4L $600
RO%E $200[ & O $600
P O $200{EOJ5 $600
MO $200|H O1= $5,000
EEOZEAL $1,2000TO*E $5,000
SO¥E $600[#RO£ $500
PR OBR $400| & H:/1%— Masakazu Fujii $3,000
ZO¥H $1,200[ RO $6,000
HO4T $400(ZXOF% $200
Z0 $300|%=O $1,100
FOZ% $300[5FO1= $500
0% $300|FEOFk $300
HEOA $300 75 21 ER D AR A HE $500
HOE $300|F0O=E $20,000
FOR $300[EO% $1,000
O $300(PEO1E $3,600
F O $300[ROZE $12,000
SO $300[FROE $600
HO $300[FROE $600
BOE $600[FROFE $200
BEOTE $400[EFOFEF $200
EOR $100{EFO= $200
Ek O $600[EFOH $200
SO $1,200[E O $12,000
FFO4H $1,200|f O % $200
HOFE $1,200[#5 O $200
OZE/ $1,200{5=2 Ot $1,200
BOE $600[fE O $200
O $1,200(BFE O %k $200
OB $1,000[fROZ& $200




MEEANSETRAIDFEHEENESE

1005 KBS
241 Pk A SE
FHO I $1,200|ZF O F= $100
ROE $400 | Ot $100
PO#HE $400[#E Ot $200
BHOH $600[E=OL $200
AROH $1,200) &= OKE $200
HOIE $1,200[FFO & $200
MHO= $1,200) £ Ok $600
MO# $1,200) B O % $600
HOHE $1,200|BR O $600
O] $600[HO=F=2 $1,000
O $600|FEOZ $200
w=OR $600[FROFE $200
EOW $600[=O#h $200
O $600[ 2O $1,000
BROJE $1,200|1210% $100
205 $1,200| B O $100
O $400[ RO $200
O $400[{HO & $200
RO $1,000{FE ORI $200
O | $1,000);E O $200
T R T A TR A H] $5.000[ O $200
EEOM $100FE OHE#D $2,320
FOE $1,000|#FO & $600
O $1,000[5R O $200
FFOERMZ $600[ZEO 7 $200
HOHFES $500|122 OB $200
BO $1,000|FOZE $200
O $2,000) O $200
BO%E $300[20= $200
TOME $300|210OF5 $500
w= Ol $400[21O%x $200
FOXE $2,320[#HOE $100
O $200[FFOAL $600
TO%E $1,200)BECOBH $500
EOK $2,000)FE O] $200
E O3 $50[#HO%E $200
O $1,000/ 20O & $100
ROZE $1,000) 52 O%#, $400
F O $100[ETOEE $200
HOE $1,000[FEOEE $200
ZO1= $200[f O $200
O $5,000[FEOF $100
#O Jg L $500 R O $100
HOER $1,200| 2O $400
i OF $1,200] 7 O $200
= $1,200 EOFHE $200
i OTT $1,200( B O $300
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TOE $100[# O $200
TO%& $100[E O $100
BRO3E $1.200|5FO% $200
i Ok $1,200|5FO1= $1,000
HOZE $1.200[z=0O7FF $200
sTOZ $1,200)FE O $200
§TOL $1.200FE=O% $200
i O4F $1,200[FEOmH $200
MHEEEIRAE] $289.383| = O+ $20,000
AR L E $12,000
/et $2,663,553 /et $6,324,735
=t $8,988,288




